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Abbreviations
ds double stitch
-orp picot
R ring
Ch chain
SR split ring
SC split chain
RW reverse work
DNRW do not reverse work
Lp long picot leaving % inch space
Materials:

One ball of tatting cotton size 40, 2 shuttles.

Method:

Wind both shuttles with the continuous thread
method (CTM). To do this, firstly wind one shuttles
and then (without cutting) pull off several yards of thread from the ball and then cut. Wind this excess yarn onto your second
shuttle.

R1 (Shuttle 1, Centre ring) 2-2-2-2-2-2 cl. DNRW and still using shuttle 1
Round one

R2 SR leave a small space to depth of other picots2-2-2/2-2-2cl. RW
Ch1 (Shuttle2) 2-2-2-2-2-2-2-2RW

R3 2-2-2+(jtofirstfreeponR1)2-2-2cl. RW

Ch2 As Ch1l RW

R4 As R3 RW

Continue round until 6 rings have been made, RW

Ché SC 2-2-2-2-2-2/2-2RW

Round two

R1 SR small space,2-2-2/2-2-2cl.RW

Ch1 2-2-2-2-2-2-2-2RW

R2 2-2-2+(miss 1 ponChlofround1landjtonextp)2-2-2cl.RW
Ch2 As Ch1l RW

R3 2-2-2+(miss 1 ponChlofround1landjtonextp)2-2-2cl.RW
Ch3 As Ch1l RW

R4 2-2-2+(miss 1 ponChlofround1andjtonextp)2-2-2cl.RW
Ch4 As Ch1l RW

R5 2-2-2+(miss 1 ponCh2ofround1landjtonextp)2-2-2cl.RW
Continue all round making the last chain a split chain as follows:

Ch18 SC 2-2-2-2/2-2-2-2RW

Round three

R1 SR small space2-2-2/2-2-2cl.RW

Chl 2-2-2-2-2-2-2-2RW

R2 2-2-2+(jtocentre pon Chlofround2)2-2-2cl. RW

Ch2 As Ch1l RW

R3 2-2-2+(jtocentre pon Ch2 of round 2)2-2-2cl. RW

Continue all round making the last chain a split chain as follows:
Ch18 SC 2-2-2-2/2-2-2-2RW



Round four

R1 SR small space2-2-2/2-2-2cl.RW

Chl 2-2-2-2-2-2-2-2-2-2RW

R2 2-2-2+(jtocentre pon Chlofround3)2-2-2cl

RW

Ch2 As Chl RW

R3 2-2-2+(jtocentre pon Ch2ofround3)2-2-2cl.

RW

Continue all round making the last chain a split chain as follows:

Ch18 SC 2-2-2-2-2-2-2/2-2-2RW

Round 5

R1 SR small space2-2-2/2-2-2cl. RW

Chl 2-2-2-2-2-2-2-2RW

R2 2-2-2+(miss 2 pon Chl of round 4 and jto next p) 2-2 -2 cl. RW
Ch2 As Chl RW

R3 2-2-2+(miss 3 pon Chlof round 4 and jto nextp) 2-2-2cl. RW
Ch3 As Chl RW

R4 2-2-2+(miss 2 pon Ch2 of round 4 and jto next p) 2-2-2cl. RW
Continue all round making the last chain a split chain as follows:

Ch36 2-2-2-2/2-2-2-2RW

Round 6

SR small space2-2-2/2-2-2cl.RW

Chl 2-2-2-2-2-2-2-2-2-2RW

R2 2-2-2+(jtocentre pon Chlofround5)2-2-2cl. RW

Ch2 As Chl RW

R3 2-2-2+(jtocentre pon Ch2 of round 5) 2 -2 -2 cl.RW

Continue all round joining last chain to base of R1. Tie and sew in ends neatly on wrong side.
Round 7

Wind one shuttle and do not cut from ball or wind both shuttles with CTM.

R1 2-2-2-2-2-2-2-2-2cl.RW

Chi 2 -2-2 -2+ (with right side of work of facing j to centre p on any chain of round 6) 2-2-2 - 2
DNRW

*R2 2-2-21p2-2-2cl.RW

ch2 2-2-2-2+(jto3rdpofR1)2-2-2-2RW

R3 2-2-2+(jtolpofR2)2-2-2cl. RW

Ch3 2-2-2-2-2-2-2-2RW

R4 As R3 RW

Ch4 As Ch3 RW

R5 As R3 RW

Ch5 As Ch3 RW

R6 As R3 DNRW

Ché 2-2-2-2+(jtocentre p on next chain
ofround6)2-2-2-2RW

R7 2-2-2+(jtocentrepofCh5)2-2-2-2

-2-2cl.RW

Ch7 2-2-2-2+(jtocentre p on next chain of round 6) 2 -2 -2 -2 DNRW

Rep from * all the way round. Join the second to last chain to corresponding picot on R1 and join the last
chain to the base of R1.
Tie and sew in ends neatly on wrong side.



